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QUESTION 1

A customer is running a cluster of ESX v4.x servers accessing a VNX LUN with a very large number of virtual machines.
They are experiencing intermittent transaction acknowledgement delays. What would you recommend to the customer
to lessen these delays? 

A. Upgrade to VMFS-5 and utilize hardware assisted locking 

B. Upgrade to vSphere 5 and utilize Block Zeroing 

C. Upgrade to VMFS-5 and utilize Full Copy 

D. Upgrade to vSphere 5 and utilize Thin Provisioning Stun 

Correct Answer: A 

 

QUESTION 2

A customer configured an EMC VNX to serve home directories to users. Users report intermittent timeouts accessing
the home directories. While troubleshooting, you observe you can successfully connect to the file share, and can ping
the VNX interfaces. What is the most likely cause of this performance issue? 

A. Duplex mismatch 

B. LACP speed mismatch 

C. Incorrect subnet mask 

D. Misconfigured authentication 

Correct Answer: A 

 

QUESTION 3

A customer is using SAN Copy to migrate data between two EMC VNX. They use Navisphere Secure CLI to manually
select the source and destination LUNs for the SAN Copy session. The source LUN is 419430400 blocks in size, with
367001600 blocks used for data. They select a destination LUN that is 367001600 blocks in size. The SAN Copy
session starts, but fails to complete. What is the most likely cause for this SAN Copy session behavior? 

A. The source and destination LUNs do not have the same block count. 

B. The source LUN is already being replicated to a different destination LUN. 

C. The source and destination LUNs are not the same RAID type. 

D. The destination LUN needs to have a smaller block count than the source LUN. 

Correct Answer: A 
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QUESTION 4

A customer wants to implement file system replication between two EMC VNX systems. The source production file
system contains data from a sequential workload that resides in a pool composed of NLSAS drives. 

The destination file system will be configured with a SnapSure schedule for data sharing. Due to cost concerns, the
destination file system and SavVol volumes will also be placed on NL-SAS. 

What should you tell the customer about this configuration? 

A. Replicator session performance will decrease because of destination file system checkpoint reads. 

B. NL-SAS is adequate if the source file system is on NL-SAS and contains a random application. 

C. Only Flash and SAS drives should be used for Replicator SavVol volumes. 

D. The destination file system can be used as a source for cascaded replication with no impact to performance. 

Correct Answer: A 

 

QUESTION 5

You are planning a CIFS DR solution with an EMC VNX for File. The customer wants to use LACP (Link Aggregation
Control Protocol) on the Data Movers to provide additional network redundancy for the solution. 

What do you advise the customer regarding Data Mover interfaces and CIFS servers for the DR solution? 

A. Identical interface names must be used on the source and destination VNX systems. 

B. Identical interface IP addressing is required for the source and destination VNX systems. 

C. The CIFS server interface is an object that gets replicated with the Virtual Data Mover. 

D. The Virtual Data Mover will use any available interface on the Data Mover for the CIFS server. 

Correct Answer: A 
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